


— = 4 N N N M MO M MILWOLW © © O© © O N~NM~MOO A1, oo O o
A A A -

ks

Kv,

6.1
6.2

FORUMS8




1.2

€y
1)
2)
3)

4)

5)
(2)

1

2)

3)

t1
Df
Df

y a
y b

yw=

CB
tang B

0.00 (kN/nt)
30.0 (C )
.00 (m)
.00 (m)
.00 (m)

g N -

19.00  20.00 (kN/m®)
18.00  19.00 (kN/m?)
16.00  17.00 (kN/m®)
10.00 (KN/1?)

0.00 (kN/m)
0.60

FORUMS8



1.3

1.4

1.5

(&Y
20
1) = 10.00 (m)
2) = 10.00 (m)
(2)
No
V(KN) HiGN) | Mjgnemy | M
1 980.70 100.00 980.70 | 1.00
No
e B fa (KN/m*)
1 1 6.00 1.50 400.00 | 3.00
No Df Df*" y 1l y 2
(m m | @y | kv
1 5.00 2.00 | 10.000 | 15.200

FORUMS8



2.1
MB
e = T ea (m)
e (m)
ea =B 6.00 (m)
=B 3.00 (m)
B = 10.00 (m)
MB (kN.m)
v (kN)
No MB \ e ea
(kN.m) (kN) (m) (m)
1 980.70 980.70 [ 1.000 | 1.667 | OK
2.2
V tang B + CB Ae
fs = fa
HB
fs
fa = 1.500
= 1.200
tang B = 0.60
CB = 0.00 (kN/mf)
Ae (m = B 2e D
D = 10.00 (m)
HB (kN)
o @ | @ | i
1 100.00 80.000 5.884 1.500 | OK
2.3
(1)
X =3 ( —Ei— -e )
2
X (m
(2) X B
gmax = 2 ¥ ga (kN/m?)
D X
gmax (kN/n?)
D = 10.000 (m)

FORUMS8



3) X
v MB
gmax = 0 B Y ga (kN/m?)
. v MB ,
gmin = D B Y ga (kN/m?)
gmin (kN/m?)
MB (kN.m)
ga (kN/m?)
C))
No X gmax. min2 qa
(m) (kN/m?) | (kN/m?) | (KNZmP)
1 12.000 15.691 3.923 | 400.000 OK

FORUMS8




Qu
Qa vV (kN)
n
1
Qu = Ae { a kK C Nc Sc K q Ng Sq - vy1 B Be Ny Sy } (kN)
Qa (kN)
n = 3.00
= 2.00
Qu (kN)
C = 0.00 (kN/nm?)
=y 2 Df (kN/m)
Ae (m?)
y 1 (kN/m*)
y 2 (kN/m*)
Be (m) =B 2 eB
= 10.00 (m)
= 10.00 (m)
eB (m) =MB V
MB (kN.m)
v (kN)
a =1 0.3 Be De Be De 1 Be De =1
B =1 0.4 Be De Be De 1 Be De =1
K =1 0.3 DF Be
Df = 5.00 (m)
DF’ = 2.00 (m)
Nc Ng Nr
[0} (tan6 )
tan6 = HB V
HB (kN)
® =30.0 C )
Sc Sg Sr
Sc Sq Sr 1.0
o | oty s s a B K (i 54 Sr
1 980.70 [ 1.000 8.000 1.240 | 0.680( 1.075 100.00 | 1.000 | 1.000
No Nc Ng NF (EH) (Eﬁ) (XN)
1 24.92 | 15.18 | 10.53 12214877 40716.26 980.70 | OK

FORUMS8



4.2

4.3

4.4

No

M(KN ) V(KN) (m (m
1 980.70 980.70 1.000 1.667 | o
No
V(KN) HKN)
1 980.70 100.00 1.500 | o
No (kN/i) (KN/1)
MCKN..m) V(KN (m
1 980.70 980.70 | 10.000 15.691 400.000
No tan@
M(KN.m) vaay [T RV (kN (kN)
1 980.70 980.70 | 0.1020 980.70 40716.26

FORUMS8




2
(@m 0.000
(m) 3.000
(m 0.000
(m) 10.000
(m 0.000
(m) 5.000
(m 0.000
(m) 10.000
(m 0.000
(m) 5.000
b (m) 2.500
a (m) 8.000
(m) 2.000
yt  (kN/m) 18.00
y sat (kN/m") 19.00
(m) 1.000
yw  (kN/m) 10.00
Rd = 7100.00 (kN)
Wp = 3393.00 (kN)
Wp yp = 8.030 (m)
WF* = 6350.00 (kN)
WF = 7350.00 (kN)
WF yF = 1.500 (m)
Md = 0.00 (KN.m)
Md = 0.00 (kN.m)
Ch =1.0
€Y
khcF( = CD Cz khco) = 1.00
CD khG = 0.75
Wu = 4740.00(kN)
yu = 12.200(m)
)
khcF( = CD Cz khco) = 1.00
CD khG = 1.50
Wu = 6330.00(kN)
yu = 14.700(m)

FORUMS8



o ck = 30.0 (N/mmf)
oy = 345.0 (N/mn?)
oy = 295.0 (N/mn?)
(cm) (mm) (cm) (mm)
20.0 D25 150 10.0 D32 100
21.0 D32 100 11.0 D32 150
1(m)
(cm)
D22 6.00 15.00
D35 5.00 10.00

FORUMS8



5.2

Rd = 7100.00
Wp = 3393.00
WF* = 6350.00
V= 16843.00 (kN)
1)
D
Mo =B V 6
= 28071.67 (kN.m)
B : = 10.000 (m)
2)
ML = (Wu yu Wp yp) khcF WF yF CD khG Md
= 93342.54 (kN.m)
Mo
eN = 3 (———)
%
4
= 73.336 (m)
x= (B 2) eN x3= 4.991 (m)
2 Vv
gmax = =  674.91 (kN/m?)
X L
L : = 10.000 (m)
hG (Wu yu + Wp yp) KkhckF + WF yF CD KkhG
) (Wu + Wp) khcF + WF CD khG
HCKN) y(m | H y(kN.m)
(Wu  khcF) 4740.00 | 12.200 57828.00
(Wp  khcF) 3393.00 [ 8.030 27245.79
(WF CD khG) 5512.50 | 1.500 8268.75
13645.50 93342.54
h6 =5 Hy £ H =6.841 (m)

FORUMS8



- 10 -

V eN - Md
HN = = 8214.69 (kN)
hG
HN
pmax = gmax (——g——) = 329.17 (kN/m?)
)
1
Mo =B V 6
= 28071.67 (kN.m)
B : = 10.000 (m)
2)
ML = (Wu yu Wp yp) khcF WF yF CD khG Md
= 136834.29 (kN.m)
12 Mo
eN = 3 (T)
MLy’
4 6(———) 2
Mo
= 73.739 (m)
x= (B 2) eN x3 = 3.784 (m)
2V
gmax = = 890.20 (kN/m?)
X L
L : = 10.000 (m)
hG (Wu yu + Wp yp) KkhckF + WF yF CD KkhG
) (Wu + Wp) khcF + WF CD khG
HCkN) ym | H y(kN.m)
(Wu  khcF) 6330.00 | 14.700 93051.00
(Wp  khcF) 3393.00 [ 8.030 27245.79
(WF CD khG) 11025.00 | 1.500 16537.50
20748.00 136834.29
hG =% H vy > H =6.595 (m)
V eN - Md
HN = = 9548.04 (kN)
hG
pmax = 504.64 (kN/m?)

FORUMS8




- 11 -

5.3
1)

L = 3.750(m)
L2 = 0.000(m)

(m)

.000
.000

.000
.750

.000
.000
.000

.000
.000

=N oo o w o w w

kN.
kN.

m/m
m/m

-516.

797
.000

kN.
kN.

m/m
m/m

70.

313
.000

kN.
kN.

m/m
m/m

3557.
-1156.

003
005

Mo

kN.

m/m

1954.

514

mm

2790.

.000

M =a

Mo

kN

.m/m

1954.

514

k

N/m

1342.

020

b(m

m)

1000.

0

h(m

m)

3000.

0

(mm)

(mm)

1
2

200
2790

33
79

.780x 10°
.420x 10°

My(kN.m/m)

7134.

51

My

OK

b tc 2d

FORUMS8




- 12 -

L = 6.250(m)
L2 = 0.000(m)
(m

.000
.000

.000
.750

.000
.000
.000

.000
.000

=
N OO Oo w o w w

kN.m/m -516.797

kN.m/m 0.000
kN.m/m 70.313
kN.m/m 0.000
kN.m/m 0.000
kN.m/m 0.000

Mo | kN.m/m -446.484

d i 2800.0
a — 1.000
M = Mo | kN.m/m -446.484
s | kw/m | -238.125
b(mm) 1000.0
h(mm) 3000.0
, 1| 210| 79.420x 10°
(nm) () | 21 2800 33.780x 10°
My (KN..m/m) -3119.00
MWy 0K

FORUMS8




- 13 -

)

L = 1.000(m)
L2 = 0.000(m)
(m)
3.000
3.000
0.000
1.000
1 0.000
10.000
2 0.000
2.000
1.000
kN.m/m -36.750
kN.m/m 0.000
kN.m/m 5.000
kN.m/m 0.000
kN.m/m 405.893
kN._m/m -656.944
Mo | kN.m/m -282.801
d mm 2900.0
o — 1.460
M =a Mo kN._m/m -412.848
S kN/m 709.078
b(mm) 1000.0
h(nm) 3000.0
) 1 110 52.947x 10°
(mm) M) | 2] 2000 79.420x 10
My (KN .m/m) -7425.59
MMy 0K

FORUMS8




- 14 -

L = 9.000(m)
L2 = 0.000(m)
(m)
3.000
3.000
0.000
1.000
1 0.000
10.000
2 0.000
2.000
1.000
kN.m/m -36.750
kN.m/m 0.000
kN.m/m 5.000
kN.m/m 0.000
kN.m/m 0.000
kN.m/m 0.000
Mo | kN.m/m -31.750
d mm 2900.0
o — 1.460
M = Mo | kN.m/m -46.350
S kN/m -63.500
b(mm) 1000.0
h(mm) 3000.0
2 1 110 52.947x 10°
(mm) () | 21 2000 79.420x 10°
My(kN.m/m) -7425.59
Mo Ny 0K

FORUMS8




- 15 -

5.4

€Y

L = 2.250(m)
L2 = 1.500(m)
(m)
3.000
3.000
0.000
2.250
0.000
10.000
0.000
2.000
1.000
(kN/m) (KN.m/m)
-165.375 -186.047
0.000 0.000
22.500 25.313
0.000 0.000
1176.272 1451.660
_ -860.539
-M/d  tan(y ) 0.000
1033.397 430.387

FORUMS8




- 16 -

b (mm) 1000.0
h (mm) 3000.0
d (mm) 2790.0
Cc — 1.000
Ce — 0.731
pt () 0.285
Cpt — 0.985
a (mm) 2317.8
Cdc — 4.812
TC (N/mm*) 0.370
Sc (kN) 3578.233
Aw (mm*) 23.226% 10°
S (mm) 150.0
Cds — 0.332
o sy (N/mm*) 295.0
Ss (kN) 3518.105
Ps = Sc + Ss (kN) 7096.338
Ps Ps OK

FORUMS8




- 17 -

L = 7.750(m)
L2 = 1.500(m)
(m)
3.000
3.000
0.000
2.250
0.000
10.000
0.000
2.000
1.000
(kN/m) (kN.m/m)
-165.375 -186.047
0.000 0.000
22.500 25.313
0.000 0.000
0.000 0.000
0.000
-M/d  tan(y ) 0.000
-142.875 -160.734
b (mm) 1000.0
h (mm) 3000.0
d (mm) 2800.0
Cc — 1.000
Ce — 0.730
pt () 0.121
Cpt — 0.741
a (mm) 3125.0
Cdc — 3.652
TC (N/mm*) 0.370
Sc (kN) 2047.262
Aw (mm*) 23.226% 10°
S (mm) 150.0
Cds — 0.446
o sy (N/mm*) 295.0
Ss (kN) 4964.978
Ps = Sc + Ss (kN) 7012.241
S Ps Ps OK

FORUMS8




- 18 -

)

172

FORUMS8




- 19 -

6.2

Kv, ks
(€H) kv (kN/m*)
3
Bv 4
kv = kvo
0.3
= 26569 (kN/m®)
kvo (kN/m?)
kvo = 0.3 ED = 368580.0 (kN/m?)
ED = 110574 (kN/m?)
Bv (m)
Bv = {Av = 10.000 (m)
Av (m?)
Av = Bx By = 100.000 (m?)
Bx = 10.000 (m)
By = 10.000 (m)
(2) ks (kN/n?)
ks = A kv
= 8847 (KN/m?)
A
Ass = ks Av
Asr = Ars = 0.0
Arr = kv 1B
1B )
IB L e gy ( )
= —— BX
12 y
IB = ! By Bx® ( )
T 12 y
1B m' 833.333 833.333
Ass kN/m 8.847000E+005 8.847000E+005
Asr kN/rad 0.000000E+000 0.000000E+000
Ars kN.m/m 0.000000E+000 0.000000E+000
Arr | kN.m/rad 2.214083E+007 2.214083E+007

= 0.333

FORUMS8



- 20 -

FORUMS8




